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EHAM IS EERY | BY AP fep * mk(p A

) FEP 3 40 $01) % 4y B AR (LS L5T)

¥ 308 - = = - = = - = = - = =
| g5 22,5300 22,530 22,530] 22530, 22530 22,530 22,530 22,530| 22,530 22, 530| 22, 530
2 P 3,250[  3,250F 3,250] 3,250] 3,250 3,300 3,300[ 3,300[ 3,300 3,300 3,300
3 FVy 1,520 1,520{ 1,520 1,145 1,145 1,230 1,230{ 1,230f 1,230] 1,230 1,230
4 LR 50 50 50 50 50 50 50 50 50 50 50
5 &7 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 110 110 110 110 110 110
T| X EE P 165 165 165 165 165 165 165 165 165 165 165
8| BEW®RA Y 390 350 550 400 400 550 400 400
9 THT 6,200[ 6,200 6,200 5,000 5,000 6,000[ 6,300, 6,800 4,950] 4,100{ 5,000
10 ~PER 1,800 1,800[ 1,800 1800 1800 1,800 1,800{ 1,800 1,800 1,800 1,800

&3t 36,075 35, 725 35, 725 33,690 33, 340 39,839 35, 985| 36,485 34, 785 33, 785 34, 685




HEABIDEERT ISP LMY g * mi (p )

5 AP (Z 2 /AT TR RARF F W JREF

¥ 308 - - = - = = - = = - = =
| g5 33, 5601 33,560 33,9560 33,5601 33,960 33, 560| 33,560| 33,560 33, 560 22,530 22, 530| 22, 530
2 P 3,360 3,360 3,360 3,360[ 3,360 3,360 3,360 3,360[ 3,360 3,250] 3,250 3,250
3 FVy 2,970 2,970, 2,970 2,970 2,970 2,970] 2,970 2,970 2,970 1,520] 1,520 1,520
4 LR 50 50 50 50 50 50 50 50 50 50 50 50
5 &7 100 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 10 110 110 110 110 110 110
T| X EE P 165 165 165 165 165 165 165 165 165 165 165 165
8| BEW®RA Y 550 400 400 320 350 350
9 THT 5,000 5,500, 95,500{ 5,700[ 5,500[ 5,300{ 6,600 9, 600[ 4,900 5,000 5,000 5,300
10 ~PER 1,800 1,800{ 1,800, 1,800 1,800 1,800 1,800 1,800, 1,800{ 1,800 1,800 1,800

&3t 33,735 49,030 47,610 48,135 47,615 47,615| 49,065 47, 715 47,015 34,875 34, 525| 34, 825




HEABIDEERT ISP LMY g * mi (p )

5 e AT Y RN

¥ 308 - = = - = = - = = - = =
| g5 22,5300 22,530 22,530 22,5300 22,3530 22, 530| 22,530 22,530 22,530 33,560 33,560 33560
2 P 3,250[  3,250F 3,250] 3,300[ 3,300 3,300 3,365 3,365 3,365 3,360 3,360 3,360
3 FVy 1,520 1,520{ 1,520] 1,230 1,230 1,230[ 2,970 2,970 2,970 2,970 2,970 2,970
4 LR 50 50 50 50 50 50 50 50 50 50 50 50
5 &7 100 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 110 110 110 110 110 110 110
T| X EE P 165 165 165 165 165 165 165 165 165 165 165 165
8| BEW®RA Y 390 350 350 350
9 THT 5,200 5,200, 5,460 5,800 5,700, 6,010 5,400 4,500 5,400 6,600] 6,100 6,100
10 ~PER 1,800 1,800[ 1,800 1,800 1,800 1,800 1,800 1,800 1,800 1,800 1,800 1,800

&3t 39,075 34,725 34,985 35435 34,985 35,295 36,8401 35,9590 36,490 49,065 48, 215| 48, 215




SHAB IS EERS 1B Y

5 B (E &IT)

£ & - = =
| g5 22,5300 22,530 22,530
2 P 2,925 2,525 2,525
3 FVy 1,980 1,980 1,980
4 LR 50 50 950
5 S 100 100 100
6 ALY 110 110 110
T| X EE P 165 165 165
8| BEW®RA Y 390
9 THT 4,800 4,800[ 4,800
10 PER 1,800[ 1,800[ 1,800

&3+ 34,410, 34,060 34, 060




EHABICFERS 1R ALY feh * mk (2125

e £ 54 & 4 TR LA
E B - iy = - = = - B
| Ty 21,230] 21, 230] 21, 230 21,230 21,230 21,230 21,230
2 Fe 7 2,230 2,230 2,230 2,265 2,265 2,265 2,280
3 TV P 1,170, 1,170f 1,170 970 970 970 2,040
4 LB p 50 50 50 50 50 50 50
3) P 100 100 100 100 100 100 100
6 FA
T T % ey 165 165 165 165 165 165 165
3 EEWRATY 350 550 400 400 350
9 ER N 3,800 3,500] 3,900 3,900 2,900 3,100 3200
10 K YER 1,200 1,200 1,200 1,500 1,500 1,500 1,500
&3 30,295] 29,645 30,045 30,730 29,580 29,780 30,915
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